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B.Com. (First Year) Examination, 2017
ACCOUNTANCY AND STATISTICS
Paper - I
(Business Statistics)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
, (gve-31)
Answer all questions (50 words each).
All questions carry equal marks.

Tt w7 P § Yo T W SR 50 v @
a7 B wft W @ oiw A
* PART-B [Marks : 50]
(gvs-v)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TIF THE | UH-US T T g, H/A qiw 39 S
TAE W O OIW 250 TR § e A wn
Tt T B ofw TR B
PART-C : [Marks : 30]
(Ev=-¥) |
~ Answer any two questions (300 words each).

All questions carry equal marks.
FE QT FI TAF IV F SR 300 S X

afer 7 & T U @ ofw wEE &)
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PART-A
(Q@us-37)

UNIT-I
GFE-1)
1. (@) Give féur uses of statistics in business.
FaEEa H wfEs & urR S @l
(i) State four merits of a good questionnaire.
TF o= WEel & W) O saEy
UNIT-1I
D)
(iii) When Harmonic Mean is used ?'
TEE W H WA w9 FW € 2

(iv) What is the difference between Absolute and Relative
measures of dispersion ?

sfEr ® Pl U Wy W ¥ owR €2
UNIT-1II
(smé-m)

(v) What do you mean by coefficient of

Determination 7

WWQ.W_W%?

(vi) In which case two regression lines are indentical ?

frg TRy § S e et g e ® 2
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UNIT-1V

(FHTE-IV)

(vii) What do you mean by Seasonal Variations ?
At R @ o F owwR § 2

(viii) - Give the formulae for converting chain base index

number to fixed base index number. :
SEA YR Fawiw ¥ R amr W |
T w1 g fafau

UNIT-V

(FFTE-V)

(ix) A and B events are mutually exclusive. If
P(A) = % and P(B) = —;—, then find out the
probability that either event A or event B will occur.
# T T WER IEST W ¥ aRk @
iR % TS § W Wiaswa % & @, Wi
T FRT 6 WD T & A TN T AR AR

(x)  If the probability of a defective bolt is 0.1. Find the
stahdard deviation for the distribution of defective in
a total of 500.
ﬂﬁ@{ﬁﬂﬂiﬁﬁmﬁmm g o 500

{Fﬂ?ﬁaﬁﬁammmﬁwamaﬁm|
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PART-B

(gus-9)
UNIT-I
(EFTE-1)
Discuss the meaning and Nature of Statistics and explain
the limitations of Statistics. (2+3+5)

Tifers & o7 qun TEi B SRen Sy iR wifcaw!
] ofeimel w goEE
OR (3799M)
Tabulate the following :
In a trip organised by a college, there were 80 persons

~each of whom paid ¥ 155 on an average. There were 60

students each of whom paid ¥ 160, members of the
teaching staff are charged at a higher rate. The number of
servants was 6 (all males) and they were not charged
anything. The number of ladies was 20% of the total of
which one was lady staff member.

frfefaa w1 wRvigg wig -

TF WEaEed N Tw WA # eEne R wem e
e 80 wRR 4 f=i T 155 ofwa ¥Y ¥ grEm e
TH ¥ 60 fanfEi % ¥ 160 ® fewm @ gmm fwm
g AgE 3 ofiw R | ym e dE wt
wem 6 (Wt W) o, 8 ow ft e mm
femi =1 dWenm w gen wt 20 wovw of faud @
TF emgen d 9 R



UNIT-II

(3TE-1D) |
4. What is Skewness ? What are the various tests of

Skewness ? Under which conditions Bowley's method
be used ? Explain. (2+5+3)

fwa =0 Bt ¥ 2 fvma W SR P FR-IA A
qﬁm%?ﬁ?wﬁﬁmaﬁﬁ&xmmm
S e 7 WHEEy
OR (1)

S.  The prices of a particular commodity for five yéars in two
cities are as under, which city had more stable prices ?

A A A TH AR F FHD U oS @ fow A &
R, fRe oW A wimal A orfuw femm & 2
PricesinCity AT | 20 | 22 | 19 | 23 | 16
PricesinCity B T | 10 | 20 | 18 | 12 | 15

UNIT-111

(FFT-11D)
6. Define regression. Why are these two regression lines ?
How are regression equation derived ? Explain. (2+2+6)

Tiee w1 Rafie s e F Ed @ s
TR ¥ 2 wienE e R TR fee W 82
TR
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OR (37%a)
7. The following table gives the distribution of students
according to age in completed years and regular players
among them.

frefafan wfesr qof ot ¥ oy & orER femnfsi
w1 o S ¥ Prafi faenfsdl w1 o <ol @ -
Age in Years 15 16 | 17 | 18 19 | 20
No. of Students | 250 | 200 | 150 | 120 | 100 [ 80
Regular Players | 200 | 150 | 90 | 48 30 12
Calculate the coefficient of association between maturity
and playing habit, on the assumption that maturity is attained
in 18th year of age.

TRoFa TE BeR W ARG ® T WREd OiE 9W
Fhu, 78 Afw fF ofgea 18 o #t o1 ¥ W
= |

UNIT-1V

(FFE-1IV)
8. Explain the following with suitable illustrations :
frafafan i sfa SaeRol 1 WA @ 9EEEd -
(i)  Deflation of Index Number.
YEHIF H TR
(i) Splicing. (5+5)
INEEeRT

1803/10,580/555/27 6 -



10.

11.

OR (37%rem)

Compute the trend value by the method of least squares
from the following data :

frafafan g9l @ <Fam o O g1 Sw qed @
e wifee

Year 2009 (2010|2011} 2012 2013|2014|2015{2016

No. of Sheeps| 56 | 55 | 51 | 47 |42 | 38 | 35 | 32
(in lakhs)

Also find the number of sheeps for the year 2017.
T8 2017 ® fomw =i #1 woie wWen saEu

UNIT-V

(FFE-V)

What is Poisson distribution ? Discuss the salient

features and properties of Poisson distribution and state

the conditions under which this distribution is used.
(2+4+4)

R de W T ? aEl s W ged fawmamet w7
fod= Ffe gur 39 Rl w1 9ol St e
T 3@ S & ST BT R

OR (37er@m)
(i)  Anshu can hit a target 3 times in 5 trials. Vansh can
hit 2 times in 5 trials and Arun can hit the target
3 times in 4 trials. They shoot simultaneously what
is the probability that exactly 2 shots hit the target ?

1803/10,580/555/27 7 , [PTO.



HAY S5 WY 3 Fom ST T EFA RIS 5 F

-2 fem diw @ T ® ek e 4 H @ 3 Fam
3% o Thal 21 7 WY-T1Y P @ § @
wigwa B R 2 FRIR @ W S am § 2

(i) A committee of four has to be formed from among
3 Economists, 4 Engineers, 2 Statisticaians and
1 Doctor. What is the probability that the committee
consists of the doctor and atleast one Economists ?

5+

3 srefeniEl, 4 SRR, 2 wifersl aun 1 e |

¥ R AR H TH QAR T R T AT BT T e
wiftrwar B o6 Wil § wF <ot aon wm-9-wm
Waﬁmwﬁae‘m?

PART-C
(TUs-7)
UNIT-I
(FFE-I) |
12. Clearly distinguish between Primary data and Secondary.

Mention the various sources of the secondary data. What
precautions should be taken while using them ? (4+6+5)

wefes qen fodiaeh geel d omm e witwe) fidew
Ewl & faf= wihl # aaedl SR W W g
- dEeafl & o & @ s o= ?
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UNIT-II

GFE-ID)
13. From the following data, Calculate Arithmetic Mean, Median
| and Mode : |
Wages in ¥ No. of Persons
Less than 20 3
Less than 40 - 12
20-60 29 .
60 and above 31
80-100 8
100 and above 19
120 and above 5 :
| (15)
frfafaa a9l F1 T8 W THRR WE, AR a9
TER T@ Y |
ol T H SfRmEl w1 e
20 ¥ FH | 5
40 ¥ F9 12
20-60 29
60 3 Aferk 31
80-100 8
100 3R Sfers ‘ 19
© 120 3R e 5
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UNIT-III

(FaTE-110)

14. On the basis of the following information find Karl

Pearson's coefficient of correlation between age and

illiteracy :

frafafen ge & SR W g TN PReRA B wen
w1 et & wewe e w99 wRY -

Age in Years | Total Population | Literate Population i
10-20 1200 1100 |
20-30 1000 925 !
30-40 800 740 |
40-50 500 470
50-60 250 230
60-70 150 140
70-80 50 45

(15)
UNIT-1V "
(FPTE-1IV)

15. An oil-mill worker in Ajmer city earns ¥ 350 per month.

The cost of living index for a particular month is given
as 136. Using the following data find out the amount he
spent on house rent and clothing :

1803/10,580/555/27

10



16.

Group Expenditure Group Index
(W) (R)
Food 140 , 180
Clothing ? 150
House Rent ? 100
Fuel & Lighting 56 110
Miscellaneous 63 80

: (15)
SSER YRR H TF aa e # gfe ufa "9 3 350 i
FE B IO TH NN AE w1 Siaw e gEes
136 &1 frefefan o6 F1 @M F@ EL 7EA R ok
T T W S H TR U J@ HINT

Ll ‘ =T (W) T gIHiF (R)
Q| | 140 _ 180
T - ? 150
Eeaclcae - B 100
fosrelt @@ oA 56 110
fafay . 63 - 80

UNIT-V

(FFE-V)

Give the chief characteristics of the normal distribution
and discuss the method of determining area with the help
of illustration. (10+5)
YA deT H qer favivand Samy den SEEWW ®i
wEr ¥ &NFT 9W w &1 fafy & faEaem wifw
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